ait
‘,'IH;
e
m

Wi (BRI RBIECE

Fag

(EBBEXE EFMK

LtiF 201306)

W A (HBARE) RO ROMFEIRATRE, B F4, MR T ROARFH LRI LK THESE, §EARR

Rt FAR, VE A RFE AN T AT,

KAEIE . KHRE; FEIHF, KlFEa

1. ZHHEHLENY

LAMERBOE R PR TR R L R AT BAE G L R
—ITASFEEERNR, A RT— R AR R, N e S e
RIS, R ZEE N AR R IS 3, RIS, >
B, BV B E RS AT, RN A, PSRRI —
TR A B, MO R E AT SR A AR BT B
PERR, IRARATEb, (A Eigas F FeRIEX s, Wik
OB 2 Fe B H ISR AR RDITE, & B8 TS, B
FHHIEEI ABIREA, a2 I —AN ARk, N
T AR R, (11211314155 53 BT Lt AR B s i AT T
AR E

FONHEFE— T ] RS R A 2 S B M, S i
FIRFIIRR B—Tr i, NN RIS E 4T 5
TR HS IR B QTR R E A B R ESR LT RJRA,
TERMEAE A IR 2 F R R B T B

2. ZE {55451

ASCUALAEACEORFE P =AU R A AR . WERE . 4Rk
R . SEXFRIERERIA AL B, BARN AT R0 . %
2SI, LA K Matlab #4E IR

2.1 W

R A )R A P B o A AT D R4S, AR E TR AN T
MM B PR R AR R, R AR SRR A R
FRAETREN, . SRABLRIE TR | RAERETT AR . XA Ab &R R,
WAL, FE TR WA IZ N, AR RS, (HE R AR
R AR BB, 2 e R G e B . e, AT
TSR 1 BN . e Ee,

00 1. FUARRMEAY:, HEE “ILOVE SHMTU” #E47/m
SRR

ELRfR

(1) 7 26 ANSESCFEET 1-26 B9 [ AR [l B X 18 4

A—>1B—>2,.-,Z—>26

(2F&H “T LOVE SHMTU” %Ry %4 (Hdras# A 0 31
) “9. 0, 12, 15, 22, 5. 0. 19, 8, 13, 20, 21", ¥X 124
A —4, FATHER S ATIUSAERE A (BRSO .

9 0 12 15
A=(22 5 0 19
8 13 20 21

(3) WK B HHERE P

T, Mgt — A P A rsaoh 1 8k-1, JEE MR,
CRESEOT 8 FLASSERA) TR DIV BEAL, TR Lol

=12 1 2|
102

) Jing
B=PA=(17 13 32 36
[56 31 64 91]
25 26 52 57
6y R
fRm AL CHMEHERE P, Bk ME%H
2 0 -1, FaEdAERETR: pflszpfl(pA):AﬁEff'J%jC, NI
pi=|-2 1 0
10 1
83|{FHE “ILOVE SHMTU” ,
HEESE . FEECE, BT AS A s TR,

164

FER IS, RIS A5 B AN AR ML 3 25 o) — IR
HEA TR AR ER ] o i L AL N G B i, ARG
TARKFEOZRT R, T H AR T RR R T B UR M, SR T
ROETHE SOIMAGBRSS R

Matlab 1R

>> A=[9,0,12,15;22,5,0,19;8,13.,20,21];

>>P=[1,0,122,1,2:1,0,2];

>>B=P*A
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>>inv(P)
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Matlab FEAEER :

>> A=[1,-1,0,0;0,1,-1,0;0,0,1,-1;-1,0,0,1];

>>h=[140;-50;160;-250];

>>UO=rref([A,b])

vo
250
110
160
0o 0

—_ = =

S OO =
(==l -}
(==}

2.3 SEXTARAE R XS 1k

SESHRRAE R AT A S R R AEA . AFAE R R PIAR oG,
XA A] 4 Ryt 1

SEHE XA A RN A — A B TR R X f AL B R, EARREE
XHEARMEER . SRS BT Z N, BIngEL AR
R PN B SR AERE B RS, THERE 2T, R A kbR
VERIAE  AEJUAAT b, o] AR SRR g iR il 4R K — il i A2 R 4
BEAN, SEXFFRAE R AL B SR B F TR SUR s, Bl
I DN B 755/ e S o EN DG w11 1 S e L 2 S

FH 4. WEEBRAPNER AL B, FREAECH 10000 A,
TR K K FEAL N I

W% A BEMA 4000 A, 2 B EEMHN 6000 A, i A
BHRAFERAH A, BNAA 20%8FF2h A B B
R, T 20% M4 B a3 A @R, Bakiy
ik, ERAE RN ABOE S SR F - S, AR
BMANBUE L7 MR BRI RNV AU £, R4
LEIE T A R AR

BSREN 37

(DEENT RS JE MR 46 1)

a_(08 02}, (1000
0.2 08) (6000

QVBHERE A XL
W)
X = AXg, o X = AX == A%y

Hrp X, BASE kK DMABTE AL B MRS ARSI, 8

R, BT X, AT A WIS, U T
PASERE A XML, AT

PHARHIE 2 10

08-1 0.2
A-E|= =(2-06)(2-1
| | ‘o.z 0.8—1‘ (#-00)2-1

AR AEAE A, =0.6,4, =1, Al B AY $F AE @ o 5

(-1 (1) M
P, = 1 1p2_1

-11 0.6 0)o
o[ a2 )

DU X AL S R 06 0)o i A HFK AT
P’lAP:A:[O J
W P RIAT

ByR X

X, = A = (PAP ), = 1 (71 1}[0.6k o]( 1 4}[4000}
21 1L 0 1)A-1 -1)6000
_1(1+0.6° 1-0.6")(4000
75[1—0.6k 1+o.ekj[eoooj
B lim 06 =0 FTRA 21(1 1}(4000}2(5000},
ke k> 2(1 1)(6000) | 5000
GEEPTE R AR KIS B TRE, RERE N a
FEE A 5000 Ao MR e, MEMAE AR
IR AR A A, TS EARAAE, 20U,
i«
el ERROER R RN, DURHTE P S AL
AR RN T8 & FAE W AL B  F T . [l
BT RYAE R A AR SIFRAERME, HOROAAT AR A1L, MMy ik
PR Rk, TEIRBCEERET, SRR IR A A XS ik, 38
T AR S A SEABLR T LA B | St o = AN R g U TR, dan]
PLER A 38 R iR A 2RIy ), IR SR8 @i n =R, o
BT L FRE 7 855 B4 Bl
Matlab #EVETE R
>> A=[0.8,0.2:0.2,0.8];
>>[P,lambda]=eig(A);
P=
-0.7071 0.7071
0.7071  0.7071
lambda =
0.6000 0
0 1.0000
>>V=[0,0;1,0];
>>x_0=[4000;60001;
>>P*V*inv(P)*x_0
5000
5000
3. 45iE
A EEELERF S A GBS AT OCR RG], 51524
T2 PR, 5538 TR A BRI R SRR A BT B Y
Re . FTHNZEIZEMHI, MEREE G IR HUE e, W H, H3E—%
BRI H T HARN Matlab #4EEUR , AN R, 088 T
KRR AT ENERVER I FIR FRME R o (RIS R
ROV BB B RSy, B —ZRBOW, NiAESCE
ORWHRR ALK, HRBEmSEE . 17,
53 3Lk
()L B, 5 M. 3 LA EEHF FLRRIOR
RBHFHER RS I F PR, 2020,41(03).
28R dh. A TREAFLEE (LBRH) REEEMA
* AT F IR (R RAZBCE A HI[)]. 0 BIFE K
FHR,2016,42(4).
B, KBALA T AMRIGRERF R ERT] AT
# bz, 2020,(37).
[4)w &, DI EHREEREEFERFEERRZ]D LB FE,
2020(11).

165



